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1=m?

@ 972 = (100 - 3)2 = 100% — 2 x 100 X 3 + 3% = 9409
@ 51x49=(5+0.1)(5-0.1) = 52 = 0.12 = 24.99

@ 3012 = (300 + 1)2 = 3002 + 2 x 300 x 1 4 12 = 90601
@ (V2+ V3)(VZ- V3) = (V2) - (V3)? = -1

® (~VI0- VB (VIO - ¥3) = (VI0)* - (V2)? = 8
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VO + (<28 - N3 (VI - ) —a+bVE o] B2 vehd
o, a+b 9 FH2NH, a, b= F2F)
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o] Zk& ohd?
T 0 1 2
1 1,000 1,005 1,010
2 1.414 1.418 1,421
3 1,732 1,735 1,738
4 2 2.002 2,005
o 2.236 2.238 2.241
6 2.449 2.452 2.454
7 2.646 | 2.648 | 2,650
8 2.828 | 2.830 | 2,832
@® 1414 @ -1.732 ® 1.732
@ -2.449 ® 2.449
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xOlAL, S (x) = f(1) + f(2) + f(3) + - + f(x)

stek. 100 olate] 2% nol thstol 5 (n) o) GOl A7}

10. f(x) = Vx+1-
olztal
Hend BF I2H?
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12. A=4x+2, B=6x2-5x-40°|1
o g o2
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@ x®+x-1 ® x>-2x-1

DO x-x+1

® x*-x+9

@ x>-x+3



15, oA x' -3x% +1°] (B +ax+b)(x* +ex+d) = 525 2 o,
a+b+c+d gZ& F5HH?
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